VAREABLES:

depends on
Independent Varicble:

Dependent Varicole:

EQUATIONE
___represents
___represents

The Tofal cost
TO see amovie
is $8 for The
Ticket plus the
amount spent
on
concessions.,

PR\ Ny

SOLUTTONS:
What wil be the Total cost 1o see
amovie if you spend $don

concessions?

How much can you spend on
concessions if you have $20?
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VAREABLES:

depends on
Independent \Varidole:

Dependent Varidole:

EQUATLGL:
___represents
___represents

Moonbucks

pays their

employees
$4.25 per hour.
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SOLUTIONS:
How much money would
someone earn working 8 hours?

How Mmany hours would you have

To work 1o earn $5007?
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Practice: Use the tables to write an equation.

Rental Bike Cost John's Age
Hour Cost Jake's John's |
(x) (y) Age (x) | Age (y)
2 $13 5 11
3 $19.50 7 13
4 $26 9 15
Equation: Equation:
12 10 Equation:
7 5
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What is the rule
to get from x
toy?

Equation:
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